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QUESTION 1

Match the RAID level with the characteristics. (1) RAID 0 (2) RAID 5 (3) RAID 10 (4) RAID 6 (a) Cost effective (b) Allows
double disk failure (c) Highest performance (d) No data protection

A. 1-a; 2-d; 3-b; 4-c
B. 1-d; 2-a; 3-c; 4-b
C. 1-d; 2-a; 3-b; 4-c
D. 1-a; 2-b; 3-c; 4-d

Correct Answer: B

QUESTION 2

Huawei OceanStor V3 series storage system hardware includes controller enclosures and disk enclosures. Which of the
following statements about controller enclosures are correct? (Multiple Choice)

A. A controller enclosure does not have disks. Disks are installed in disk enclosures.

B. A controller enclosure consists of controller modules, fan, BBU modules, power modules and/or interface modules.
C. A controller enclosure is the core of a storage system.

D. A controller enclosure processes storage services and manages the disk enclosures connected to it.

Correct Answer: BCD

QUESTION 3

Which of the following is not a characteristic of the Cloud?
A. Ubiquitous Access.

B. Shared pool of configurable resources.

C. On Demand Self Service.

D. Quick analysis of vast amount of data.

Correct Answer: D

QUESTION 4
In HUAWEI OceanStor V3, which of the following are characteristics of virtual snapshot LUN? (Multiple Choice)

A. Virtual snapshot is based on the pointers specified in a mapping table.
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B. A snapshot LUN cannot be mapped to hosts,
C. A full data replication is unnecessary.
D. Data is located using a mapping table.

Correct Answer: ACD

QUESTION 5

Storage array is a network device used to switching network signals or data It can provide a dedicated communication
channel between any 2 nodes in the network that is connected.

A. TRUE
B. FALSE

Correct Answer: B
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